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1. A= (+2) = (=3) + (=7) — (+10) 3, C=(4+2%x3—5)+2
A=(F2)+ (+3) +(-7) + (—10) C=0M4+6-5)+2
A= (+5) + (-17) c=(1o 522
A= (-12). C=5=+
2. B=—[(=3)—- (D] +[-(+2) + (-3)] C=25
B=—[(-3)+ (D] +[(-2) + (-3)] 4. D=[E+3x4+ 2]—11
B=—-(-4)+(-5) 10
B = (+4) + (~5) D=(§-+12—2)—11
B = =3 » - (10 ;
—(?4'6)'—1
p=(3+3)-11
. 70+ 18
Dz( 3 )_11
28
D=?—11
’ 7 o . ,_28_33
u * 4 ' gy
_ 28-33
N -3
g -5

L e L e

'BECD clN g5 .1

. -

(¢— (%< A¢B¢E).AB = BE 5(AB)//(BE): U 13 5B ) suilh A8 25 E
(2)e—— AB = CD 5(AB)//(CD). : stias 2 » ABCD
(O sie Laadlla g (lautliia (e el 458 S 13) g3l (g3l sk 2l 05S1)
&l 315 BECD el of @i ) 5 D 1 o
:BECD &3ua¥) () sia dalius a2

(cm? a5 4ll) § =25 4y S=5X5 4y S=CDXCB:\wl v

'ABCD aall Jpme Gl 3

cm g sas gl P = 20 4y P =05Xx4 4% P=AB x4\l v
:‘_’Jﬁ‘lli'gm_ﬂl

'S = 3x + 3 ;4 ABCD Jshaiwal) daliws of o 1

(el (de Gl mjsideali ) S =3x + 3. 4%y S = (x+1) X3 4y S = AB X BC Wl v

‘P =2x+8:3 ABCDskiudl lyns of s .2

4w yP=(x+1+3)X2 “4wsP=((x+1) +3) X214 3P =(AB+BC) x 2\l v

(ol o oyl mjsiduala) P=2x+8 43P =(x+4) X2

x=10:dal (wPyS cla 3

(cm? Aoyl ) § =33 43S =30+3:4wyP=3x10+3 4w 3§=3x+3 b v

(cm:psadl)P =284k sP=20+8 4w 3P=2x10+814w 3P =2x+8:Ld v




